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Q (0l 2.1) o Sl printf()It Y= 2 )M
#include <stdio.h>

WA E) 0l 8 0l MRS

int main(void)
{ /

printf("ABCDE");

printf("12345\n"); — printf("ABCDE12345\nabcde\n");

printf("abcde\n"); &S
return O;
}
a =g
ABCDE12345
abcde
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#include <stdio.h>

int main(void)

{
intx,y, z; Hae M0 A =8
x =500; y=125; Xl et2: Hagt =05t
Z=X+Y; A A G A
printf("%d",z); By 28 He
return O;
}
[Z2] 625
\ }
printf("Sum is %d.", z); [E&] Sum is 625.
t |
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Q H= gt e
= scanf("%d", &a); ... a= (= dH)
= scanf("%f", &x); ... x= (&= &)
Q (il 24)Hgls 28 Y= T2 )
#include <stdio.h> —
=
. . . Enter the radius of a circle : 4
'{m main(void) Area is 50.265472
floatr, s: .. A2 A Mol Diameter is 8.000000
printf("Enter the radius of a circle : *); ... & CHH=2
scanf("%f",&r); LAl 2™
s=3.14159 *r *r; .. A2 Ol H A
printf("Area is %f \n", s); .o HEs gt £
printf("Diameter is %f \n", 2*r); LA 2 g =Y
return O;
}
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» AELIEN AL EESMNOE Y, =2 AEGHA 28
= 2HHE 0l: sum, x2000, tax_ratel, tax_rate2, Table, table
« 228 0l: 4th, "x", tax-rate, id@host
O ANSI E&2 314K /18, 42 A= 84
» tax_ratelldt tax_rate2= L2 ZIMLHMAE 22 AERZ 214
Q AlgAt HEAE

» 20IE € = USE ROl A0 BIFAE (0l) tax
» SHOE ZES MBI LESN EEHENZE 72

(o) tax_rate TaxRate
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Q 0l 2F0i (reserved word)
» CHOOUN SE&t EXZ 012 HSE 0IS
s IR E(keyword)2t D& &
» NMETZAM ALEE 5= 8l
Q oleFoiel o
» NZE: char short int long unsigned float double
struct union typedef enum void const signed
» MOE: if else switch case default for while do
break continue goto return
fZ: auto register static extern volatile
. b: sizeof
a ¢ M HMAM AtE0H= 0I2F0]
= ada fortran pascal asm
= entry near far huge
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O Xt= E(data type)

=« Z == (integer)

» &= (floating point number): 24L& £
=« Z X (character)

(ch =110 &= 19 BRH R 282 =0

EX= ZREH HWRHA 32 ESELCH

Q celoe iz s

= int PSS

= char SN

= float A (BE HUL)

« double A= (2U1 ELE)

double x; LXE2BEYE M
char c; ..cE 2X B




mp XSO B He
sl

QintXisd

« ZFREA B0 [HetA 16-bit £= 32-bit2 EEE.

= 16-bit &=
= 32-bit 8=

-32,768 (21%) ~ 32,767(215-1)

-2,147,483,648(23) ~ 2,147,483,647(2%1-1)

o
A0 2HAH HZE2 HE HS

(0ll) long, short, unsigned

iy
i
o

long int 2! & ==(32-bit)
short int B2 & ==(16-bit)
Q float, double Xt=2 & unsigned int FS Y= s> 22 S Hl 281 SOt
5=k X8 2= x 108+ unsigned long int 235 gl= 21 E(32-hit)
» float (32-bit &l =+): 6Xtel -38 ~ 38 unsigned short int £35S ele #H2 F=(16-bit)
= double (64-bit &2<*): 15itel -308 ~ 308 » N2 I S AIBSHs ints M2 Jts
long int a; S HaHA2 22 210|Y

Q char &t= & long a; }

» L= 8-hitZ2 HI| (cf) &2 &t 2 Xt= 16-bit2 HD| Q unsigned 82| & H<

» char HIZE 2 8-bit == HI|0l AIS Jts = 16-bit unsigned: 0 ~ 65,535 (216-1)

» 8-bit = -128 ~ 127 » 32-bit unsigned: 0~ 4,294,97,295(232-1)

colol Iz ey 9 colof Z2 ey 10
ol ol

Q &F==(constant) I R

» HGHA 2= AR U= » 1082 1-92 AIESIH 2 (oll) 789

» 8% 022 AIZSIH EE (0ll) 064

O "AAA 12 056 Ox4f » 168 Ox £= OXZ AIEGHH E8 (0ll) Ox3af
Q&&= 314 1.0 1.5e5
O SXAA A " \n' ‘@' X » A AFEJBHOZ intEOE HEE
O SXYa4: "Korea" "B "3 g

11

a==Jtinte HEAE BOHAMH
Ql
=

Q =& XN& H0IAtU, L

1234 .. int&® =

1234L .. long® =

40000U ... unsigned® &=
40000UL ... unsigned longd &%=

t
cf EHEHOll 2IGH Al unsigned &= long&8 2 2
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n A2 EZES =X
. 3.14
« 1.0 1. A2 E=00/H Ax=HO|5 M Il
« 0.12 .12 F42E2=00H F22 Mt s

» AEE HO0IY
= 6.23(=6.2x 103 6.2E3
. 4e-2 (= 4x102) LASEO S0IE A A

il
Q 2K &=z
» EEX A EFENE
e MRE( )2 SOIA ZAl
oh A" b 5 '@ ‘&
a ASClIZE
» A0 HEEH=E 3 g2 &t
0= E= 3C

» ASCIZEE=E8-hit B2 HE
» ASCIZES =M=

At LMY =Mt 23
« '0'2t 02 CH2LH

» 02 4810 23

AsCII char Ascix char Ascix char
32 space 64 @ a6 )
33 4 65 a7
24 " 66 a8
35 67 99
36 68 100
37 69 101
38 70 102
39 ' 7l 103
40 72 104
41 73 105
42 74 106
43 75 107
a4 s 76 108
45 77 109
46 5 78 110
47 79 111

80 112
49 81 113
50 82 114
51 83 115
52 84 116
53 85 117
54 86 118
55 &7 119
56 &8 120
57 89 121
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Wi Mo e B w e
tw=lminix x|zl ld|luwalalolols|s|amw=ga|m alnocw

S SN 2 % E S C o™ O DO 2R 0HTOTTMO AR R

6.2 ... double& &l - P =
6.2F .. floats A& BN 1ot
61 = 93 125
62 > 94 126
63 i 95 _ 127 _
colo ZTRIHY 13 colo ZTRIHY 14
A aTLod A
myp BSUAl DE e =XHE
ol lE ol
Q H=HAl 2E(EE==A HDI) Q =4Z &=
» HOE 2A2 22X 28U S48 EC= MEH=E 22Xt w HEBE BAES 2 USE VE ROHAM EA
backslash(\)2t &1 LIEFES (O \n* Wt (0ll) "Korea"
» ZEH URECZ=8 22 28E QO 2Xgo B
Q st E2EX 2= MHE =X » 2NYS AEH UWRUA nul 22 ZU= dsNo 21S2 B8
\n new line: W& 22Xt (O3 E2) (0) "Korea" = 'K' 'o' ' 'e' 'a' \0' ’ Kl o | r le a I\O‘
\r carriage return: & 822
\t tab \b backspace Q =09 Atst
0 null 2X (3 00l LS == =) "a's e, 02 PHEIOR A% 2K %S
Q CAOUOUAN S+t EE= AISEHE=E 24 - null X "2 \000R RHGE exgy
\" 2 s \' N2 OsSE"
\\ backslash \
Q 8,168+ D=t H|
\101 8% DSR2 HHEE 2X (10X 65, 'A)
w42 1684 DS 2 TS 21 (10X 4 66, 'B)
colo T2y 15 colo T2y 16
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» A0 ROE OIS

J of
= Jiel® ArEohs & 201 hE s Sl A e e . BAE AZS| Ol BEA Aol HBEES OG0 &,
Q (0l 2.6) JIs&+E AtSet ZZ2 ] TR
#|ncI}Jde <stdio.h> At _ e float a, b, c; O OHe 22 Ttegel B dA
#define PI 3.14159 Al A THALO PIE ALS . HIAZ MOIGIH HAO ID2| 22H0| B
int main(void) n B S0 AR ES2 AR 2E (GE fIXls US0 OE)
{ int main(void)
floatr, s; Lo HE A {
printf("Enter the radius of a circle : *); ... & CHLH=Z g del
scanf("%f",&r); LAl ol T )H AAE
S=Pl*r*r; ... A2l EO0l A&t }
return O;
} _ _
Coo Z2 ey 17 colol T2y 18
AL KA
i B2 =19 e 4
sl sl
O H=a= =DIgts NEe US0l AL=Zoi0F & O =4 (comment)
int a; /* This is a comment */ L FZ EHMe 22
b=a; (X) ..a2 20| HO X $gAeZ2 HR » HEEOZN BMLHN AHA SAIE
» D20 HEAHE, F 01, S 29 S2 A T2 AE
Q ad=0A =013t a ol
int a; /* hello.c
*UHE: NZE =MUZ LIZSHCH
a=25: :/ ver 0.0: 03/6/10 & X 22 S O =0l 2HAM &4 JIs
. intsum; /*XE=2 & ¥
Q #H=9 =Dt &AA intmax; /* Z N2t
int a=25; Q C++ =AM
— . =I5 = ot _
float data, sum =0.0, average; ... sum2t =J|3t (A ESHX Z ) /I C++ comment LEEH ARSI = 20K =&
(o) intsum; / XZE2 &
colof T2 el 19

Co Z=J2hd 20
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d JHI =41t UsS X&E

Q (0fl) S=SHALO) CHEH COIOf =4

It

il

Q=8 As B

pt— dac — b*b - 4.0*a*c 1.0+2->1.0+20=3.0 L ASEE ZES S R0 A =
atb
- — (atb)/(cd) - _
c—d (@b} [(c-) TTTTLES MEU 89 Q =AM A2 HeEt
2x+%y—% — 2.0% + /2.0 — 1.0/(z*2) » BN RS Fr= 2SI HE
& char, short > int
a = xa= : unsigned char, unsigned short > unsigned
x=y=5 > x=(=5 > | 4ou X2 yoll 5 K& . OIZ A IANTE £ 5 2 NEH0Z Hay
zsA int < unsigned < long < unsigned long < float < double
c=10
a=b=c+5 ..a2 b0l 15 & o) sti+f/d> ili+f/d =i+f/d>i+d/d=i+d>d+d=d
(s: short, i: int, f: float, d: double)
Coo Z2 ey 25 colol T2y 26
mp (EY BE mp 3 e AN}
sl ) sl
Q xs=0AMde Ahzd HEt O & 813 HAR
= A% HS2 ASZ22 HAE. . A4 2O NIBHE YANOT BB AT
#include <stdio.h> 0l 2.9 */
(double) num
int main(void) (double) (a + b*c)
double  d; [* 64-bit &= */ o N
float f: [* 32-bit A AIA */ n S B HARL (type) 2 HEHMT A=
int a; * 32-bit B Jt-lA */ (double)a/4 > ((double)a) 4 & BeE = Lixd
short b; /* 16-bit & * == ) (double) (a/ 4) e £ 8 HE
d =123456.789012;
f=d; I*f=123456.789063 : HUT &4 ¥/
a=f /*a=123456 : é#-‘.'—._ =4 v
b=a; *b=-7616 : O|0IR= &k */
printf("%f %f %d %d", d, f, a, b);

}
[&

return O;

211 123456.789012 123456.789063 123456 -7616
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